Labyrinth Sudoku - By Sylvain Hogue

In each puzzle below, fill in the grid so that every row and every column contains the numbers 1 through 3 exactly once. In
addition, starting from the space indicated by the arrow, the numbers 1 through 3 must travel along the path defined by the
bold line in the order 1, 2, 3, 1, 2, 3, etc. There may be one or more empty spaces before or after the numbers in the path.
The puzzles on this page start out easy and become progressively harder. An example is shown below.
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